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Q1. Choose the correct answer.
1.

If two polygons are similar then:

L 2Ewas 2L (D) szt Lo (C)

Their corresponding sides are equal Their volumes are equal
The ratio of the areas of two similar polygons is:

__ (D) ©)
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Equal to the sum of their etk

corresponding sides  Equal to the cube of the ratio of their

corresponding sides

. If the volumes of two similar solids is 125m3 and 27 cm 3, the ratio of

their corresponding heights is ......:

9:25 (D) 259 (C)
The exterior angle of regular pentagon is:
72° (D) 60° (C)

. A parallelogram has an area of 64 cm? and a similar parallelogram has an

area of 144 cm?, If a side of the smaller parallelogram is 8 cm, the
corresponding side of the larger parallelogram is:

16 cm (D) 18 cm (C)
. The total number of diagonals in a polygon with 9 sides is:
27 (D) 25 (C)

. Two shapes are similar, and their radii are in the ratio 4:5. If the surface area

of the larger sphere is 500 Tt cm?. What is the surface area of the
smaller sphere?

4051 cm? (D) 4001 cm? (C)

. Aregular polygon has an exterior angle of 30°. How many diagonals does

the polygon have?

108 (D) 712 (C)

. In a regular hexagon, the ratio of the length of a diagonal to the side length

IS:

2:3 (D) 32 (C)

10. Aregular polygon has an interior angle of 165°. How many sides does it

have?

24 (D) 20 (C)
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Their areas are equal  Their corresponding angles are equal
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eS8, L udUS sl o Equal to the ratio of their perimeters
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Equal to the square of the ratio of
their corresponding sides
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12 cm (B) 10 cm (A)
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16 (B) 15 (A)
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Q2. Write short answers of the following questions. 2X10=20 S/ 7 N2 Lotz 24y

| . Find the value of x in the following: (image) il XLLES .

Il . Find the unknown value in the following: (image) -q’frﬁ”uplﬁrsh”twf St . |

lll . Find the missing value in the following similar solid: (image) o )’lx#u:,,l @rﬁﬂftuﬁ(w Te:i,f-_“-; |

V.. Find the missing value in the following similar solid: (image) J )T’:["L.{' J ﬁ*rﬂ"‘tuﬁrwfﬁii@.ﬁ AV

V . Find the measure of each interior angle of a regular pentagon. - /"lr,i’f;| ;&-J :,:U&yjf._g ﬁéu} /‘" v

VI . Find the area of the equilateral triangle ABC of side length s metres. - ,J},b‘ SKABCELE iy ;pdg}di;d‘;’ skl . VI

Vil Each dimension of a model car is %0 of the corresponding car Z.dl-q/lﬂh‘ el St b _’i% EU™ Sl e L LK vi
dimension. Find the ratio of: The areas of their windscreens. L ﬁu{ 9y

vill Each dimension of a model car is 1—L~ of the corresponding car Lo/ r')’”u:*f"' S Uitnbe b %0 KUy L Ker L sS4 Vil
dimension. Find the ratio of: The number of wheels they have. JSaddu Pl

X . Atoy manufacturer produces model cars which are similarin every wayto < et KAt e 5 e Uk I |Zea bl KSR L, IX

the actual cars. If the ratio of the door area of the model to the door area of b fitnd w2500 X 5 e’ ; 2L e L K 4“‘;
the caris 1 cm to 2500 cm, find: the ratio of the capacities of their petrol « g (s
tanks_” i tio pacities Ir petr :*Hufu“ﬁfu}fdmiwl-q/
X . Atoy manufacturer produces model cars which are similar in every way to LcNiionE KB G e b8 e s b !Lf_thu‘f;miuwﬁ S {

the actual cars. If the ratio of the door area of the model to the door area of r.,w Jits9 KJ"/25UU b C_&:’ el St i 2Ll K ,,;*, ]

the car is '1 cm to 2500 cm, find: the width of the model, if the actual car is ; Jlj 2 be’ i L:hj 2 25150, j-u" Jf
150 cm wide. ' ' )

Q3. Write detailed answers of the following questions. 5X2=10 S M Ly s piur 3 Ay
1. Given thatareaof A ABC = 36 cm? and mAB =6 ¢m. mBD =4 cmmAB=6 cm»<AABC =36 cm? -1
mBD =4 cm. Find the areaof A ADE g/ ¥ ANADE
2. Two regular tetrahedrons have volumes in the ratio 8:27. What is the ratio of J )T‘:”":-:Ju’fu f{_,ibfamiuw_B:Z?:,.,ﬁLﬁuf Lf,u::ugf" 9.2

their sides?
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